Check Left-Right Asymmetry



Constrain the (anti-)neutron after all selection

Details of fixed (anti-)neutron mass:
« On the hypothesis of Anyy

« Set a very large chisqCut (50000)
« Set very large Iter Number (500)

 Fixed (anti-)neutron

Efficiency Loss: (in signal region)
« nrr® channel: 0.02%

« nitY channel: 0.03%

KalmanKinematicFit *kmfit = KalmanKinematicFit:

kmfit->init(Q);

kmfit->setBeamPosition(vx);

kmfit- >5etheamPos1t1on(va)
kmfit->setChisqCut( :
kmfit->setIterNumber( );
kmfit->AddTrack(, TrkPar_Lambdabar_VtxFit);
kmfit->addTrack(, , glTrk);
kmfit->AddTrack(, , g2Trk);
dMissTrack( , mnO_PDG) ;
drResonance(”, mpion0, );
d ;
d

kmfit->Ac
kmfit->Ac
kmfit->Ac

Resonance(l, ,1,2,
FourMomentum(2, ecms);

i
i
kmfit->Ad
i
i
i

:instance();




Compare after fixing (anti-)neutron mass (1C)
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Compare after fixing (anti-)neutron mass (1C)
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Compare after fixing (anti-)neutron mass (1C) n/n
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Fixed the neutron mass
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BDT
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BDT (no e33e55)

Input variable: E, Ny;jr, Asz, Agec
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Helicity Angle Resolution Distributions of A — n7® with Matched Sig
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Momentum Unit Vector Resoluton of n and p of Signal
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